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tiole g2 3,576,161 3,589,069 12,908
= 2,876,161
= 700,000
CIOIE &4 s8+8 3,521,721 3,535,901 14,180
== 2,821,721
= 700,000
CIOIE D8 HRZBEXE & SH 2Lt 715 3,521,721 3,535,901 14,180
= 2,821,721
= 700,000
SSOO0IE HeY =i € 018 245t 873,310 439,725 433,585
201 er23 | 451,000 18,450 432,550
01 At2teltl 431,000 18,450 412,550
OUIOIH &5 & Heedst =8 10,000
OsEHoHEE T2, 2¢ 2 |X2 421,000
03 &A= 20,000 0 20,000
O=< 4ol - sH = 20,000
203 g4l 3,600 2,565 1,035
03 A=A 2= 3,600 2,565 1,035
OUoIHEHHR =N 3,600
207 ARl 388,710 388,710
02 &AHDHEH] 388,710 388,710
OUOIH &= =8 € & 288,710
ODBAIAE S& & & il 100,000
308 AtXIEHMSOIE 30,000 30,000
3 SISO & EAS A 30,000 30,000
O=30I0IH 28 23U 30,000
CIOIE DBt S 23t 1,515,710 1,965,710 440,000
= 815,710
= 700,000
201 Ler23 | 16,710 365,710 A.350,000
01 At2teltl 15,710 15,710 0
OUIOIH S3AY gotg S 15,710
207 ARl 500,000 340,000 160,000
02 MR 500,000 340,000 160,000
OUIOIH Ml 24 & &8 200,000
O=¢g &Al OOl 75 300,000
405 AHaHE S 1,000,000 1,250,000 250,000
= 300,000
= 700,000
01 ML ESFSHI 1,000,000 1,250,000 250,000
OQZHHI0IH 20 & &5 1,000,000
= 300,000
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SA - ZE . BR() - HRAR - BES of v G o HIDE2
| 2 700,000
24E SHXZAM 1,114,701 1,126,726 A12,025
201 et 3| 11,900 11,900 0
01 At22t2l] 11,900 11,900 0
OSAHZAL 20K &2t 11,900
207 ARl 170,000 202,000 A32,000
01 H1E4H] 170,000 202,000 /32,000
OSEEE AMXE ZAH R 24 170,000
308 AXIHMSOIA 932,801 912,826 19,975
01 XN BSEES 932,801 912,826 19,975
02023 J|Z= At M ZAL 265,819
OSEEE AMXE SEZA 666,982
SAZE &2t & 2tel 18,000 13,740 4,260
201 223 18,000 13,740 4,260
01 At22t2ltl 18,000 13,740 4,260
OsgSHdE S &2t 18,000
dH2LZHI(CoIHEE2) 54,440 53,168 1,272
[2ZHI(HI0IEEZat) 54,440 53,168 1,272
JlEZul(dolegg) 54,440 53,168 1,272
201 fer=3| 25,600 21,675 3,925
01 At 22|l 25,600 21,675 3,925
OUOIHEHH 2= 25,600
202 04| 25,600 22,313 3,287
01 2LHoIH 25,600 22,313 3,287
OUoIHEHHR =N 25,600
203 HR=AH] 3,240 9,180 25,940
MU A2 L2FAI 3,240 3,240 0
odlolegg= 3,240




